EARAROBREBRT —5 XN—ZXBISH—F

2024538238 (£) 2@FR#1H

Kl v>x3m *Bf 5] Sk

EREETIE R

[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000

BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS

1 4| RATSTSIY 4% 3 Sasﬁgl?sﬁx 2:(0_4).1 11-11-11-10| 34.9 | 86.4 | 6 (436) J:(fﬁ_ﬁfﬁgq%i%
Ri=3—vvwF B:LYyRIXFS5—/ NEpuk: e

) ) | TPRFAVTAR 3 3 5C7._01b><—lb (21014/43) 10-9-9-7 [35.4| 84.4 | 1 :(1)5) Eﬁ%g R
RVIVN=RF—~ B:RILEUNZ— KT 7 —L

311]1|31478—E>7 [B] # 3 g%ﬁt é(g% 4-5-4-3 |35.9| 84.4 | 4 z:gf ggﬁ%ﬁ)
RE=F/)NhO=L B:LAVTVR HBEIT7—L4L

47| 9| 2=V #o3 | B rany SIS RT B 2 ‘rz:))z BF R 1T )
R:TSvIIAR B:oO09Fv=FY =YV T7—L

P Ry ———, R T T N E CE R b T
R:IvRIVTA B:D—FVITFSAR (B) t&I-RL—y3avEET 7

61710 771 >F i 3 Eﬁgudﬁﬂ 2(:30/%5 1-1-1-1 | 36.6| 81.3 | 8 (4_03 g%gg (FER)
R:STU=FA4 B:7YRUIvT fevieie]

d « BPEIEEEL # 3 | BORA 7 T IS el KA IR B~ W
R:F4—=FTUSVF B:I7ILFU— WA e

gl5|5| EV—IHYSAR SN s (22015/22) 6-8-8-7 |36.4| 75.6 | 9 | 454 Eéﬁ*&zz &=
R:FISU—vaviiuz— &:F(I-7J0-5 | o Aoms

9 3| Ay /=TI i3 ?S%EH 2:(076).3 9-10-9-10 | 37.3 | 64.7 | 11 | 436 E@g? ER)
RFUARZYT BrYTUyITO— 0 | Smait syT0ysL—

101516 | *M¥3aD¥VY 8| ks (21016/45) 2-3-4-9 [37.9 63.5 | 7 | 4% rﬁﬁ% €Y
RYZRI—ZZRI— BAAYIVHITA D | Sienm

1 . FADDE = 22 # 3 g%‘%ﬁ“f (22016/29) 12-12-12-12|37.0 | 59.8 | 10 | 506 Egg;i(iﬁ)
RIN-EYTr— @ FUFy R )| s

=~,= =N ] 3 -2-2- R

1218111 E5>3 ik 3| (21017/21) 2-2-2-3 [39.0| 59.6 | 12 (4_7; Egégé%
R:O0—RAFO7 B:ERHAT—5 IRRBUS

[ BN

Enty) 48.4-36.2

NOYIA L | 13.0-11.8-12.9-12.9-12.4-12.7-12.2-11.8-12.1-12.3

@ 1—F—&EBIE(

13—+ — 10(6,11) (1,9) (5,8,12)3,2,4-7

20—7F— 10,11(6,9) (1,8,12)-5,2,3,4-7

30—7— 10(11,12) (6,1,9)8,5(3,2)4-7

AS—5r— (*10,12) (11,1,9)-8(5,2)6(3,4) -7

[ B/N-S

B s 4 2,550 | [ 94 & 2-4 820 % & 2-4 2,480M 3EE 1-2-4 6,590

BB 4 490H 1-4 2,500 F5 & 2-4 2,760M 3EE 4-2-1 53,650M

2 120/ 1-2 5201 58 4-2 7,700
1 2509

ABIC OV TRUTEREERRODDZE. THRIIZEL.




